Dear Parents/Carers,

This powerpoint takes the children through the learning
sequence. If possible please talk through the slides with
your child and check their understanding. The slides
start at a basic level to re-cap previous learning.

Consolidation of
multiplication and division
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LO: I can recall and use multiplication
and division facts.




Starter

2x30 isequalto

4x20 isequalto
5x40 is equalto
3x90 isequalio
6 x30 isequalto




Starter - answer

2 x 30
4x20
5x40
3x90
6 x 30

is equal to
is equal to
is equal to
is equal to

is equal to

3x20

2x40
__4x50

9 x30
3 x 60




Descriptive Teaching

Complete the multiplications:

2x4= 20x 4=
3x5= 5x30=
4x4= 40x 4 =

8x3= 3x80-=




Descriptive Teaching - Answer

Complete the multiplications:

2x4= 8 | 20x4= | 80

3x5= | 15| §x30= (150

4x4= |16 | 40x4= |160

8x3= |24 | 3x80= 240




Descriptive Doing
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a.2x5 b.20x 5 c.20x 50




Descriptive Doing - Answer

Which multiplication matches the array?
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a.2x5 b.20x5 c.20x 50




Reflective Teaching

True or false?
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If 4 x 80 = 320, then 320
divided by 80 = 40.
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Reflective Teaching - Answers

True or false?

@ D

If 4 x 80 = 320, then 320
divided by 80 = 40.
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False. 320 divided by 80 = 4.




Reflective Doing

If we know 8 x 3 = 24, what else do we know?

Complete the fact family.

24
3 X 8
80 (x| 3 | =
30 | = (240
240 | = = | 80
= 8 -




Reflective Doing - Answers

If we know 8 x 3 = 24, what else do we know?

Complete the fact family.
24
3 X 8
80 | x| 3 | = |240
8 |x|30(| = |240
240 | = | 3 | = | 80
240 |+ 8 | = | 30




Independent work

The following slides are questions for you to work through
independently.

There are 3 sets of work - 1 chili (the easiest), 2 chilies, 3
chilies (the hardest). Choose one set you feel most
comfortable with.




Independent work

1a. Complete the calculations. 1b. Complete the calculations.
2x2= 20x2= 5x5= 5x50=
4x2= 40x2= 1x2= 1x20=
b5x2= 20x5= 4x2= 4x20-=
W | VY




Independent work )

2ad. Which number sentence matches the
array?

a.2x4 b. 20 x 40 c.2x40
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2b. Which number sentence matches the
array?
a. 40 x 40
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4 x4 c.4x40
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Independent work j

3d. True or false?
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If 2 x 40 = 80, then 80 divided
by 4 = 20.

|

3

WF

3b. True or false?

If 4 x 50 = 200, then 200
divided by 40 = 50.
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Independent work

da. If we know 4 x 2 = 8, what else dowe | 4b. If we know 4 x 5 = 20, what else do
know? Complete the fact family. we know? Complete the fact family.
8 20
2 X 4 4 X 5
x| 2| =180 40 | x = (200
x| 4| =180 4 | x = |200
80 | = = | 40 200 | = = | 40
80 | = = | 20 200 | = = | 50
7 o [T




Independent work

5a. Complete the calculations.

2x8=

Iax 5=

4x3=

8x4=

20x 8=

5x30=

40x 3=

4 x80=

WF

5b. Complete the calculations.

2x 5=

IX8=

4dx5=

2x4=

20x 5=

J3x80=

5x40=

4x20=




Independent work ) j

&da. Which number sentence matches the
array?
a.3x5 b.30x5 c. 50 x 30
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&b. Which number sentence matches the
array?
a.30x 4 b.4x3 c. 30 x 40

[ [\ fo\ [\
o\ o\ [\ fo\
[\ o\ [\ [




Independent work

7da. True or false? /b. True or false?
Y ra
If 3 x 80 = 240, then 240 If 3 x 40 = 120, then 120
divided by 8 = 30. divided by 40 = 30.
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Independent work

8a. If we know 8 x 2 = 14, what else do 8b. If we know 3 X 5 = 15, what else do
we know? Complete the fact family. we know? Complete the fact family.
16 15
2 X 8 3 X 5
80 | x| 2| = 30 | x| 5| =
x| 8| = [160 x| 3| = (150
160 | = = | 80 150 | = = | 50
= 8| = =130 | =
W o | Vg




Independent work

92a. Complete the calculations. ?b. Complete the calculations.
3x4= 30x4= bxé= 60 x 6=
bxd= 4x60= Bx8= 8x80=
3x8= 3x80= 5x8= 50x8-=
Bx4= 400x 8 = JX b= 300xé6=
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Independent work j}j

10a. Which number sentence matches
the array?
a.3xé b.30xé6 c.300xé6

B

10b. Which number sentence matches
the array?
a.30x8 b.8x3 c.30x80
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Independent work )j}

11a. True or false?

If 3 x 60=180and 6 x 30 =
180, then 180 divided by 60
= 3.
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11b. True or false?

fF8x40=320and 4 x 80 =
320, then 320 divided by 40
= B0.
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Independent work

12a. If we know 8 x 4 = 32, what else do 12b. If we know 4 x 6 = 24, what else do

we know? Complete the fact family. we know? Complete the fact family.
32 24
4 X 8 4 X b
80 |[x| 4 | = 4 | x|60| =
x| 8| = 1320 6 | = (240
320 = | 80 240 | = = | 60
=140 | = =140 | =
Y . v | Y
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Answers 2o, c. 2 x 40 b, c 4 x40
g, True b, False. s §
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a0 (x| 4| = |80 4 |x|50)| = |200
B |&| 2| = [40 200 [+ 5 | = |40
oo [« 4| =] 200 |+ | 4 | =[50
Expected Eﬂﬂtﬂ
[ dxd=H |dxJ0=H0
o b W x s b, o Wxd
Ta, Trus i, False. Hiz 3
B, B,
o x| 2| = [180 a0 |x| 8| =[50
a0 |=| 8| = [140 0 x| 3| = |18
160 || 2| = |80 150 |+ 2] =50
160 || 8| = |20 150 [+ 130] =] 5
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1. 30 = A
11b. Falue. [§is A,

126, 4 (x| 40| = |240
40 (x| & | = |240
MO |+ 4 ) = | &b
0 |+ J A0 ) = | &




Reflection Time

Max is trying to calculate the number of
beanbags in a bag.

(Mux knows the beanbug?’
are put info equal groups
of ten.

He knows there are four

\_ equal groups. y,

==:>= The Learning Pit

How many beanbags were in the bag at the start? Show your
working.




Reflection Time - Answers

Max is trying to calculate the number of
beanbags in a bag.

/Mux knows the beanbug;\
are put into equal groups
of ten.

He knows there are four

\_ equal groups. Yy

How many beanbags were in the bag at the start? Show your
working.

Four equal groups of ten. 4 x 10 = 40 beanbags.




